
FEBRUARY 2020

ALWAYS
THE BEST
PROTECTION
PROFILES

MADE IN

ITALY

FEBRUARY 2020

M.P.M. s.r.l.
Via Europa  2
35010 Fratte
di S. Giustina in Colle
Padova · Italy

T +39 049 9301773
F +39 049 9300427
info@mpmpvc.com
mpmprotections.com

ALWAYS
DYNAMIC

www.safeway360.com

Exterior & Interior
Protección de personas

Protección de activos y bienes

Delimitaciones de zonas de trabajo

Diseño y soluciones a medida

SEGURIDAD GLOBAL

SAFET Y ENGINEERING
FOR A SAFE WORK

POSTVENTA Y MANTENIMIENTOPRODUCTO E INSTALACIÓNESTUDIO Y PROYECTO
FEBRUARY 2020

ALWAYS
THE BEST
PROTECTION
PROFILES

MADE IN

ITALY

FEBRUARY 2020

M.P.M. s.r.l.
Via Europa  2
35010 Fratte
di S. Giustina in Colle
Padova · Italy

T +39 049 9301773
F +39 049 9300427
info@mpmpvc.com
mpmprotections.com

ALWAYS
DYNAMIC

www.safeway360.com



FEBRUARY 2020

ALWAYS
THE BEST
PROTECTION
PROFILES

MADE IN

ITALY

FEBRUARY 2020

M.P.M. s.r.l.
Via Europa  2
35010 Fratte
di S. Giustina in Colle
Padova · Italy

T +39 049 9301773
F +39 049 9300427
info@mpmpvc.com
mpmprotections.com

ALWAYS
DYNAMIC

www.safeway360.com

Exterior & Interior
Protección de personas

Protección de activos y bienes

Delimitaciones de zonas de trabajo

Diseño y soluciones a medida

SEGURIDAD GLOBAL

SAFET Y ENGINEERING
FOR A SAFE WORK

POSTVENTA Y MANTENIMIENTOPRODUCTO E INSTALACIÓNESTUDIO Y PROYECTO
FEBRUARY 2020

ALWAYS
THE BEST
PROTECTION
PROFILES

MADE IN

ITALY

FEBRUARY 2020

M.P.M. s.r.l.
Via Europa  2
35010 Fratte
di S. Giustina in Colle
Padova · Italy

T +39 049 9301773
F +39 049 9300427
info@mpmpvc.com
mpmprotections.com

ALWAYS
DYNAMIC

www.safeway360.com



  150  

  150  

IMPACT RESISTANCE: 1500 J

����������������������������

Prima emissione00

_____ 

 _____

1:1

Fabio M.12/01/16

 
GRD 150 EXP

Firma

Q.tà

2° Controllo

1° Controllo

Modi�ca:DataRev. n°.

Nr. Disegno

Materiale

DenominazioneScala

Rif. UNI EN 22768/1

* Per dimens.     di 0.5 mm, lo scostamento si indica dopo la dimens.
* Esclusi smussi e raccordi per eliminazione di spigoli.

±8
±4
±2

±6
±3
±1.2
±0.5

±4
±2
±0.8
±0.3

±2.5
±1.2
±0.5
±0.2

±1.5
±0.8
±0.3
±0.15

±1
±0.5
±0.2
±0.1

±0.5
±0.3
±0.1
±0.05

±0.2
±0.1
±0.05

molto grossolana
grossolana
media
�ne

v
c
m
f

2000
4000

1000
2000

400
1000

120
400

30
120

6
30

3
6

0,5°
3

Scostamenti limite per dimensioni lineari  *

Denominazione.Desig.

Classe di tolleranza

1 2 3 4

A

B

C

D

F

E

Il p
re

se
nt

e 
di

se
gn

o,
 a 

se
ns

i d
i le

gg
e,

 e
' d

i p
ro

pr
ie

ta
' d

el
la

 M
PM

, F
RA

TT
E d

i S
an

ta
 G

iu
st

in
a i

n 
Co

lle
 (P

D)
 e

 n
on

 p
uo

' e
ss

er
e 

rip
ro

do
tto

, u
til

izz
at

o,
 n

e' 
co

m
un

ica
to

 a 
te

rz
i, s

en
za

 p
re

vi
a a

ut
or

izz
az

io
ne

.

PALO PROTEZIONE
BOLLARD

GRD 150

02. BOLLARD

GRT 150

GR 150

FIX P 150

M12

IMPACT TEST PASSED
according to
EN 15512:2009

HEAVY LOAD /
FOR FORKLIFTS

IMPACT RESISTANCE: 450 J

����������������������������

Prima emissione00

_____ 

PVC _____

1:1

Fabio M.12/01/16

 
GRD 90 EXP

Firma

Q.tà

2° Controllo

1° Controllo

Modi�ca:DataRev. n°.

Nr. Disegno

Materiale

DenominazioneScala

Rif. UNI EN 22768/1

* Per dimens.     di 0.5 mm, lo scostamento si indica dopo la dimens.
* Esclusi smussi e raccordi per eliminazione di spigoli.

±8
±4
±2

±6
±3
±1.2
±0.5

±4
±2
±0.8
±0.3

±2.5
±1.2
±0.5
±0.2

±1.5
±0.8
±0.3
±0.15

±1
±0.5
±0.2
±0.1

±0.5
±0.3
±0.1
±0.05

±0.2
±0.1
±0.05

molto grossolana
grossolana
media
�ne

v
c
m
f

2000
4000

1000
2000

400
1000

120
400

30
120

6
30

3
6

0,5°
3

Scostamenti limite per dimensioni lineari  *

Denominazione.Desig.

Classe di tolleranza

1 2 3 4

A

B

C

D

F

E

Il p
re

se
nt

e 
di

se
gn

o,
 a 

se
ns

i d
i le

gg
e,

 e
' d

i p
ro

pr
ie

ta
' d

el
la

 M
PM

, F
RA

TT
E 

di
 S

an
ta

 G
iu

st
in

a i
n 

Co
lle

 (P
D)

 e
 n

on
 p

uo
' e

ss
er

e 
rip

ro
do

tto
, u

til
izz

at
o,

 n
e' 

co
m

un
ica

to
 a 

te
rz

i, s
en

za
 p

re
vi

a a
ut

or
izz

az
io

ne
.

PALO PROTEZIONE
BOLLARD

GRD 90

02. BOLLARD

GRT 90

GR 90

FIX P 90

M12

LIGHT LOAD /
FOR HANDPALLET

TRUCKS

20 21



1 2 3

4 5 6

GUARD RAIL - GRD INSTALLATION

Ø12mm

19

Ø12mm80mm

WALL

T=60Nm

* The distance of installation depends on speed and weight of vehicle

MIN 150mm*

1 2 3

4 5 6

GUARD RAIL - GRD INSTALLATION

Ø12mm

19

Ø12mm80mm

WALL

T=60Nm

* The distance of installation depends on speed and weight of vehicle

MIN 150mm*

1 2 3

4 5 6

GUARD RAIL - GRD INSTALLATION

Ø12mm

19

Ø12mm80mm

WALL

T=60Nm

* The distance of installation depends on speed and weight of vehicle

MIN 150mm*

1 2 3

4 5 6

GUARD RAIL - GRD INSTALLATION

Ø12mm

19

Ø12mm80mm

WALL

T=60Nm

* The distance of installation depends on speed and weight of vehicle

MIN 150mm*

1 2 3

4 5 6

GUARD RAIL - GRD INSTALLATION

Ø12mm

19

Ø12mm80mm

WALL

T=60Nm

* The distance of installation depends on speed and weight of vehicle

MIN 150mm*

1 2 3

4 5 6

GUARD RAIL - GRD INSTALLATION

Ø12mm

19

Ø12mm80mm

WALL

T=60Nm

* The distance of installation depends on speed and weight of vehicle

MIN 150mm*

2

3

4

5

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

Ø12 mm

19

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

Ø12 mm

80 mm

GRD 90/150

02. BOLLARD

ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS

1

WALL

The distance of installation depends 
on speed and weight of vehicle

WARNING

T=60Nm

TRUCK LINE

03. GUARD RAIL 

  100    300    100  
  500  

  200    600    200  

  1000  

  200    1100    200  
  1500  

  200    800    800    200  

  2000  

  200    1300    1300    200  

  3000  

  200    1200    1200    1200    200  

  4000  

  1
52

  

  1
52

  
  1

96
,1

0 
 

  120  

BARRA FILETTATA M20

GRT 150
RONDELLA M20

DADO M20

GRC 150

RONDELLA PE M20

  175    400    175  
  750  

IMPACT RESISTANCE: 4525 J *
45° vehicle impact energy

* The unit data is proved by tests, stored in MPM, on excellent conditions goods. Such tests cannot take note of particular situations, installation or bad maintenance.

8765

Il p
re

se
nt

e 
dis

eg
no

, a
 se

ns
i d

i le
gg

e,
 e

' d
i p

ro
pr

iet
a' 

de
lla

 M
PM

, F
RA

TT
E 

di 
Sa

nt
a 

Gi
us

tin
a 

in 
Co

lle
 (P

D)
 e

 n
on

 p
uo

' e
ss

er
e 

rip
ro

do
tto

, u
tili

zz
at

o,
 n

e' 
co

m
un

ica
to

 a
 te

rz
i, s

en
za

 p
re

via
 a

ut
or

izz
az

ion
e.

E

F

D

21 43

C

B

A

4321

Scala Denominazione

Materiale

Nr. Disegno

Rev. n°. Data Modifica:

1° Controllo

2° Controllo

Q.tà

Firma

 TRUCK LINE _____

14/05/2018 Fabio M.

1:5

_____PVC

_____ _____

00 PRIMA EMISSIONE

_______

_______Via Europa 2, Fratte (PADOVA) Italy
www.mpmpvc.com  E-mail: info@mpmpvc.com

Tel +39.049.9301773 Fax +39.049.9300427

GRC 150

NUT M20

GRT 150

THREADED ROD M20

WASHER M20

WASHER PE M20

HEAVY LOAD /
FOR FORKLIFTS

2322




